
Cycle 4

Science
Year 10

Name: ______________________________

Tutor: _______________________________



Year 10 Homework Timetable

Monday Bedrock
Learning

Ebacc Option
D Option C Modern

Britain

Tuesday English Tassomai Option B Option A

Wednesday Hegarty Science Modern Britain Option C

Thursday Ebacc Option
D Tassomai Bedrock

Learning Option B

Friday Hegarty Science English Option A

Tassomai - 2 Daily Goals per week
Hegarty - 4 tasks of Hegarty per week



Year 10 - Homework Plan Science

Week/Date Homework Task Examination Question

Week 1
25th April

Cornell Notes
Current in series and parallel circuits

During long periods of
vigorous exercise, the body
respires anaerobically.

Explain the changes that
happen in the body during and after
vigorous exercise.  (6)

Week 2
2nd May

Revision Cards
Magnetism

Answer the exam questions on circuits.

Week 3
9th May

Cornell Notes
Potential difference in series and
parallel circuits

An electromagnet is a solenoid.

Explain why it is better to use
an electromagnet rather than a
permanent magnet in a scrapyard.

You should include a comparison of the
properties of electromagnets and permanent
magnets in your answer. (4)

Week 4
16th May

Revision Cards
Hormones and their glands/functions

The number of cases of Type 2
diabetes in the UK is increasing
rapidly.

Describe how insulin and
glucagon help control the blood sugar
concentration in a healthy person. (6)

Week 5
23rd May

Cornell Notes
Control of blood glucose
concentration

Answer the exam question
comparing contraceptives.



Week 6
30th May

Revision Cards
Neutralisation reactions

Explain the improvements the
student should make to the
method so that pure crystals of
copper sulfate are produced.
(6)

Week 7
6th June

Revision (any method)

Week 8
13th June

Revision (any method)

Week 9
20th June

Plug the gap









WEEK 1
Date…………………………………………….

During long periods of vigorous exercise the body respires anaerobically.

Explain the changes that happen in the body during and after vigorous exercise.
(6)

Answer:-

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________



WEEK 2
Date…………………………………………….

The diagram shows the circuit that a student used to investigate how the current through a resistor
depends on the potential difference across the resistor.

 

(i)      Each cell provides a potential difference of 1.5 volts.

What is the total potential difference provided by the four cells in the circuit?

______________________________________________________________

Total potential difference = _________________________ volts
(1)

(ii)     The student uses the component labelled X to change the potential difference across the resistor.

What is component X?

Draw a ring around your answer.
 

light-dependent
resistor

thermistor variable resistor

(1)

(iii)    Name a component connected in parallel with the resistor.

______________________________________________________________
(1)



(b)     The results obtained by the student have been plotted on a graph.

 

(i)      One of the results is anomalous.

Draw a ring around the anomalous result.
(1)

(ii)     Which one of the following is the most likely cause of the anomalous result?

Put a tick ( ) in the box next to your answer.
 

The student misread the ammeter.

 

The resistance of the resistor changed.

 

The voltmeter had a zero error.

 

(1)

(iii)    What was the interval between the potential difference values obtained by the student?

______________________________________________________________

______________________________________________________________
(1)

(c)     Describe the relationship between the potential difference across the resistor and the current
through the resistor.

___________________________________________________________________

___________________________________________________________________
(1)



WEEK 3
Date…………………………………………….

(c)     Figure 2 shows an electromagnet being used to lift a car in a scrapyard.

Figure 2

 

An electromagnet is a solenoid.

Explain why it is better to use an electromagnet rather than a permanent magnet in a scrapyard.

You should include a comparison of the properties of electromagnets and permanent magnets in your
answer.

(4)

Answer:-

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________



WEEK 4
Date…………………………………………….

The number of cases of Type 2 diabetes in the UK is increasing rapidly.

(a)     Describe how insulin and glucagon help control the blood sugar concentration in a healthy person.
(6)

Answer:-

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________



WEEK 5
Date…………………………………………….

(c)  The table below shows information about three methods of contraception.
 

  Condom Oral
contraceptive

Hormone skin
patch

Percentage (%)
effectiveness 98.0 99.7 99.8

How
contraception is
obtained

From shops
or sexual

health clinic
From doctor or sexual health clinic

Possible side
effects

No serious
side effects

Headaches,
nausea, high

blood pressure

Headaches,
nausea, blood

clots

Evaluate the use of these contraceptive methods.
(6)

Answer:-

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________



WEEK 6
Date…………………………………………….

A student plans a method to prepare pure crystals of copper sulfate.

The student’s method is:

1.   Add one spatula of calcium carbonate to dilute hydrochloric acid in a beaker.
2.   When the fizzing stops, heat the solution with a Bunsen burner until all the liquid is gone.

The method contains several errors and does not produce copper sulfate crystals.

Explain the improvements the student should make to the method so that pure crystals of copper sulfate
are produced.

(Total 6 marks)

Answer:-

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________





Date           /          / Topic WEEK 1

Questions Notes

Summary



Date           /          / Topic

Questions Notes

Summary



Date           /          / Topic WEEK 3

Questions Notes

Summary



Date           /          / Topic

Questions Notes

Summary



Date           /          / Topic WEEK 5

Questions Notes

Summary



Date           /          / Topic

Questions Notes

Summary



Revision Page



Revision Page



Revision Page



Revision Page



Revision Page



Revision Page



Revision Page



Revision Page



Revision Page



Revision Card on Magnetism

1. Which direction do magnetic field lines go
in?

2. How can you tell where the magnetic field
is strongest?

3. Give an example of a combination of poles
that repel.

4. Give an example of a combination of poles
that attract.

5. State how to find the magnetic field using
plotting compasses.

6. State how to find the magnetic field using
iron filings.

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on Hormones and
glands

1. For the following hormones, state their
gland and function:

a. Insulin
b. Glucagon
c. Testosterone
d. Thyroxine
e. Oestrogen
f. Progesterone
g. Adrenaline

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on Neutralisation
reactions

1. Write the standard equation for a reaction
between a metal and an acid.

2. Write the standard equation for a reaction
between a metal oxide and an acid.

3. Write the standard equation for a reaction
between a metal hydroxide and an acid.

4. Write the standard equation for a reaction
between a metal carbonate and an acid.

5. State which type of salt is made with each
acid:

a. Hydrochloric acid
b. Nitric acid
c. Sulphuric acid

Answers




